
Plastic Hard Roof for Polaris RZR XP 4 1000
ZP-YJ-030507-003

BEFORE YOU BEGIN
Read these instructions and check to be sure all parts and tools are accounted for. Please retain
these installation instructions for future reference.

IMPORTANT
This PLASTIC HARD ROOF is exclusively designed for your vehicle. Please read the installation
instructions thoroughly before beginning. Installation is easier if the vehicle is clean and free of
debris.

INSTALLATION INSTRUCTIONS
1. Shift vehicle transmission into “PARK”. Turn
key to “OFF” position and remove from vehicle.
2. Remove two original factory screws A and
U-nuts B, set them aside for reuse.

3. Assemble front roof panel ① and rear roof
panel ② with nine M6*25 screws ③, eighteen
metal washers ⑤, nine rubber washer ⑥ and
nine nuts ⑦.

4. Place assembled roof ①② on the roll cage,
loosely secure its anterior part with two original
factory screws [A] and U-nuts [B] first.



Plastic Hard Roof for Polaris RZR XP 4 1000
ZP-YJ-030507-003

5. As shown, Set eight clamps ⑧ under eight mounting holes of the assembled roof panel ①②.
After determining the positions of the clamps, remove the assembled roof panel and stick foam
pads to the roll cage.

6. Reinstall the assembled roof ①② on the
roll cage with two M6*30 screws ④, two rubber
washers ⑥ , four metal washers ⑤ , and two
nuts ⑦.

7. Use our supplied accessories to fix the
assembled roof panel ①② to eight positions
on the roll cage. As shown, for each mounting
hole, use one M6*30 screw ④ , two metal
washers ⑤, one rubber washer ⑥, one nut ⑦

and one clamp ⑧ to install.



Plastic Hard Roof for Polaris RZR XP 4 1000
ZP-YJ-030507-003

8. Drill two holes on the roof panel based on the two mounting holes C of the assembled roof panel
①②. For each mounting hole, use one M6*30 screw ④, two metal washers ⑤, one rubber washer
⑥ and one nut ⑦ to install.

9. Finish installation.


	BEFORE YOU BEGIN
	IMPORTANT
	INSTALLATION INSTRUCTIONS

